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NDA 12025 LIVE CLASSES
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Q)If/n(a+c), n(a—c),In(a—2b+c)arem AP, then

(@) a,b,careinA.P. (b) a?, b?, c?are inA.P
(c) a,b, caremGP }i) a, b, carein H.P.
o'\’f'n(a—C) = Zn[a+c) + I (6{—25{-(:) Yae = Jab +3be
7 et+c, a-¢  Ond a-20+c  are In Caf’, dac = dbfibc
L= dac
a+c a-2bte —
(- ) = ( ( ) Q40

————

}[ acq;(/-a/Va?aA%ac+ Qa-%C*/I o
,5,¢c ave In HP

—dac = —dab +dac —he —
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Q)lfin(a+c),In(a—c),In(a—2b+c)aremA.P.,then
(@) a,b,careinA.P. (b) a3, b%, c*areinA.P.
(c) a,b,carein GP. (d) a, b, caremn H.P.

Ans: (d)



NDA 1 2025 — LIVE CLASS — MATHS — PART 2

Q) Consider an infinite geometric series with first term a and
common ratio 7. If 1ts sum 1s 4 and the second term 1s 3/4,

then 4 4 L g
_4 3 5.3 Y —4rT -2 2

(a) a—7,1 » (b) a=2,i . y

3 1 1 2

© a==,r=— d) a=3,r=-— 4r°—br+ 3 oy

2 2 L , 4/ 'f
a2 3 v~ lgy 42 = b

1 , T “f
ley* — 12y - =0
(5,00 _ ___@__.) - 4 Ay - 3 by — )2y ~Yr 1+ 3
[~ (f 47(/“'—-3) -/ (!/7‘-3):;0

g
(a > "f»-%) i (‘5’7—-3)(/%.;) - b
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(47~1) [4y-3) =0

e
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EXAMS

Q) Consider an infinite geometric series with first term a and
common ratio . If its sum 1s 4 and the second term 1s 3/4,

then
4 3 3
(a) a=;,r=; (b) a=2,r=§
3 1 1
(¢) a—z,f—z (d) a—3,1—4

Ans: (d)
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EEEEE

=2, d-3
Q) Ifthe sum of the first 2» terms ofthe A.P. 2, 5, 8, ..., 1s equal
tothe sum of the first » terms of the A.P. 57,59, 61, ..., then

n equals La =SP4 d=2

@ 10 ©® 2 @© 1 @) 13

—ﬁ—("?x"?f' (47)-1)3) = -3—- AX57 "L(”")z)

q
/( ¥ + Gn-;) > ,;Z(W fa?n—-2) g :;?1 4“(”-/)0,]

bntl = p + 56
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Q) Ifthe sum of the first 2» terms ofthe A.P. 2,5, 8, ..., 1s equal
tothe sum ofthe first » terms ofthe A.P. 57,59, 61, ..., then
n equals

@ 10 G 2 (@ 1 @) 13

Ans: (c)
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Q) If a, b, care in geometric progression and a, 2b, 3care in
arithmetic progression, then what 1s the common ratior
such that 0 <r <1 ?

| 1 Har = a+9072
@ 3/ ® 3
rQ(za) - e’“)" =0
1 ! —
L d =
© 5 @ 3 r= 4o+ foat-913ax(0)
3 / [’)/ C) a?(%) “ht 3¢ B A 430
o oar & 46 = 4t 3¢ re fatyut 3
’9[4:‘) caft 3(0”) ba

- . - 209 _ 1
PRI
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Q) If a, b, care in geometric progression and a, 2b, 3care in
arithmetic progression, then what 1s the common ratior
such that 0 <r <1 ?

1 1
(@) 3 (b) 5
1 1
© 7 () Py

Ans: (a)
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Q) For an AP with first term u and common difference v, the
p® term is 15 uvmore than the q term. Which one of the
following 1s correct ?

(@) p=q+15v (® p=qtl5u
(© p=qtldv (d) p=q+14u
y/ﬁc(/o-/)y = [5uy + /'f‘ (2—/)V
pV - gy = I5uv

/)——Z - 15u
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Q) For an AP with first term u and common difference v, the
p® term is 15 uvmore than the q term. Which one of the
following 1s correct ?

@ p=q+15v (b) p=q+15u
(© p=qtldv (d) p=q+14u

Ans: (b)
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Q)What 1s the sum of the first 50 terms of the series
(Ix3)+@Bx5+BExT)+....7
(@ 1,71,650 - (b) 26,600
(c) 26,650 (d) 26900

a”(o?‘n l7(c’¢n+/) %)2 ')2 - ‘9')2-'/ 9 13
{ - M rsoxgxloL — 50

{p = Zoy = ZHnly 0 ' };/
= %éhl- ¢) > (300 Kfof - 50
= 4n(rt1)(an4) _ = /o000 # /300 — 50

6 - [HM300 —50 = [3/650
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Q)What 1s the sum of the first 50 terms of the series
(Ix3)+@Bx5+BExT)+....7
(@) 1,71,650 (b) 26,600
(c) 26,650 (d) 26900

Ans: (a)
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Q) What is the value of 913, 9V§9 91727 = 2
@ 9 Jb) 3
(c) 9173 (d 1
: L L
§3.97. 9% w0
Lol L 4o
g 137 —
. A
K, a - L 0, T - q -
3 __,--—--'
3
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Q) What is the value of 9173, 91/19_ g1/27

@) 9 (b) 3
(C) gl/3 (d) 1

Ans: (b)



NDA 1 2025 — LIVE CLASS — MATHS — PART 2

The roots of the quadratic equation

PYQ-2024-1I

a?(b? -c?)x? +b%(c? -a®)x +c%(a® -b?%)=0

are ecqual [a2 % b2 » cz).

—

Which one of the following statements
is correct?

(@) a?, b2, ¢? are in AP.

(b) a?, b?, ¢? are in GP.

(c) a2, b2, ¢? are in HP.
v

(d) a?, b2, c? are neither in AP nor
in GP nor in HP.

[Az(c‘-a‘)

4 ;42(51-&) B - élfcz-a")
¢ = oa*-t?)
root ore equa/,

DittWmimont = 0

- A = 0

]2.—— 4 a”’(é"—-cl) c}(alfé‘) =)



NDA 1 2025 — LIVE CLASS — MATHS — PART 2

[ (o) [ g a(be) Hats) =0

2,40 .
6"@” F Ratblet — yaltgte! + Yale! — yated " =0
(A’cz £ U2t _ Qaac’)1 =) (aféfc)ls at 46" 40 # 20b + 2be +9¢q

-
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(“cz + brat — QO'QC‘L)IL =

L% et + blaz-— 242" = 0

bt + brat = datet /(M)\v

fret + b2t - Ralc‘?'g
alézcl a?,éLcl

L+ L - 2

a?. Cﬂ- L?r

é’( ﬁiff-—) 2 Yy HY
07.0} e
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The roots of the quadratic equation
a?(b? - c?)x? +b?(c? -a®)x +c*(a? -b%) =0

are equal [t::2 # b2 » cz].

Which one of the following is a root of
the equation?

b2(c? - a?)
% a2(c2 —b2)
b")(c2 —a2)
a?(b? - c?)

(b)

b2(c? - a?)

< 2a2(c2 - b2)

b2(62 —a2)

d
“ 202(!)2 —c2)

PYQ-2024-1I

\
S~
P
—\
LY
r~
\
B~
N
l

(=]
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®

The product of S consecutive terms of an AP
1s 229635. The first, second and fifth terms PYQ - 2024 - I
are in GP,

What is the common difference?

3 0-44 a-q o« o+d atqd

o s 0 0, 0,

(a -d)" = (a-Zd) (ﬁ f-).cf)

fc{l—a?ac{:t) - ___-'rﬂ“f”{
0*- 3ad +d* = ab- 44t " 40—
)  A(5d-20) =0 | d=40 50-2
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®

The product of S consecutive terms of an AP
1s 229635. The first, second and fifth terms PYQ - 2024 -1
are in GP,

What is the sum of all five terms?

(@) 60 _E,_+3_i+90/+ﬂ.,- qd

) 65 A R
.. 94, aSKE - @
(d) 80 4 4

Sum of 'n’ Odd numbm’ - gt
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Q) After paying 30 out of 40 installments of a debt of Rs. 3600,
one third ot the debt 1s unpaid. Ifthe mstallments are forming
an arithmetic series, then what is the first instalment?

(@ Rs50 (b) Rs3l
(¢) Rs105 (d) Rs110
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Q) After paying 30 out of 40 installments of a debt of Rs. 3600,
one third ot the debt 1s unpaid. Ifthe mstallments are forming
an arithmetic series, then what is the first instalment?

(@ Rs50 (b) Rs3l
(¢) Rs105 (d) Rs110

Ans: (b)
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Q)If the sum of ‘»’ terms of an arithmetic progression is
n? —2n, then what is the »* term?
@) 3n—n? (b) 2n-3
(c) 2n+3 (d) 2n-5
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Q)If the sum of ‘»’ terms of an arithmetic progression is
n? —2n, then what is the »* term?
@) 3n—n? (b) 2n-3
(c) 2n+3 (d) 2n-5

Ans: (b)



NDA 1 2025 — LIVE CLASS — MATHS — PART 2

EEEEE

Q) What 1s sum to the 100 terms of the series
9+99+999+..?

(2) %(10‘00—1)—100 (b) %(10”—1)—100
9

(©) 100(1001°-1) (@) ﬁ(10100_1)
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EEEEE

Q) What 1s sum to the 100 terms of the series
9+99+999+...?

(a) %(10100_1)—100 (b) %(1099 _1)_100
(©) 100(10010—1) (d) %(10100—1)

Ans: (a)
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Q) Ifthe sum of the first two terms and the sum of'the first four
terms of a geometric progression with positive common ratio
are 8 and 80 respectively, then what is the 6th term?

(a) &3 (b) 243
(c) 436 (d) 1458
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Q) Ifthe sum of the first two terms and the sum of'the first four
terms of a geometric progression with positive common ratio
are 8 and 80 respectively, then what is the 6th term?

(a) &3 (b) 243
(c) 436 (d) 1458

Ans: (c)
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Q)Ifx?, 32, z2 are in AP, then y +z, z+x, x + y are in
(@ AP (b) HP
(c) GP (d) None of these
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Q)Ifx?, 32, z2 are in AP, then y +z, z+x, x + y are in
(@ AP (b) HP
(c) GP (d) None of these

Ans: (a)
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Q) What is the value
1—-24+3—-—4+5—...... + 1017

(a) 51 (b) 55
(c) 110 (d) 111

of
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Q) What is the value

1—24+3—445—.....+101?
(a) 51 (b) 55
(c) 110 (d) 111

Ans: (a)

of
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